Appendix 3


Criticisms of the transfer procedures


Introduction


In Chapter 4 of the report, the Committee noted that it had received some criticisms concerning the way in which, under the Bill, votes in excess of those needed to give a candidate a quota are transferred to other candidates. This Appendix summarises the criticisms.


Use of unweighted transfer values


The evidence from the Proportional Representation Society of Australia and the Electoral Reform Society of South Australia criticised the way in which the transfer value of votes is to be calculated.�





A simplified explanation of the method of calculation provided for in the Bill is as follows.





In order to be elected, a candidate must receive a proportion or "quota" of the total votes cast. The quota is calculated by dividing the total number of first preference votes by one more than the number of delegates to be elected, and then adding one to the resulting quotient.� When a candidate is elected with more votes than the quota, the surplus votes are not ignored. Instead, the ballot papers are transferred to another candidate according to the voter's next preferences.





The method of transfer involves calculating a figure called a "transfer value". For the first transfer, this is calculated by dividing the successful candidate's total of surplus first preference votes by the total number of his or her first preference ballot papers.� All these ballot papers, not just the surplus, are examined to determine the second preferences. They are all then transferred to the second preference candidate, but do not retain their full value. Instead they are multiplied by the transfer value.





When the next candidate, after receiving transfers, obtains a quota, a transfer value is then calculated for his or her surplus. This is done by dividing the surplus votes by the total number of ballot papers the candidate has received, that is, his or her own first preferences plus the ballot papers received on transfer from the first candidate's surplus. The process continues until all the surpluses have been transferred.





The candidate receiving the least number of votes is then excluded, and his or her ballot papers are transferred according to the voters' preferences. A transfer value is also calculated for the transfers from excluded candidates. It is done by assigning a transfer value of one to the ballots expressing a first preference for the excluded candidate, or where the ballot was received by the excluded candidate from another excluded candidate with a transfer value of one.� The transfers continue until the required number of candidates have obtained a quota and are elected.





The core of the criticism by the Proportional Representation Society of Australia was that the transfer value given to a ballot paper could vary as it was transferred down a chain of candidates.� Incoming transfers may come from different (already elected) candidates, and will have different transfer values. When the current candidate achieves his or her quota and the surplus is passed on a new transfer value is calculated to be applied to the outward transfers. Under some circumstances, a parcel of ballot papers may have a higher outgoing than incoming transfer value. The Society advocated instead that the incoming transfer value of a parcel of ballot papers be taken into account in calculating the outgoing transfer value.





To illustrate its criticism, the Proportional Representation Society provided the following hypothetical worked example in which a quota is 50,000 votes:





Suppose that Jones obtains 35,000 first preferences, then receives 100,000 ballot-papers at transfer value 0.1 when Costa is elected (another 10,000 votes, not quite enough), and finally 25,000 ballot-papers at full value when Perez is excluded.


At this point, Jones has progress total 70,000 and is therefore elected, with a surplus of 20,000.


Under the definition in the Constitutional Convention (Electoral) Bill 1997, the transfer value for each of the ballot-papers helping to elect Jones is 20,000/160,000 = 0.125!


Oops! The 100,000 ballot-papers that were worth 10,000 when received from Costa, are now worth 12,500. How can they go up in value as a result of helping to elect someone? Simple. The definition of the transfer value is crook!


The table below illustrates the problem in another way:


ballot-papers�
incoming transfer value�
outgoing transfer value�
difference in transfer values�
contribution to Jones�
available for others in surplus�
�
60,000�
1�
0.125�
0.875�
60,000 x 0.875 =


52,500�
7,500�
�
100,000�
0.1�
0.125�
-0.025�
100,000 x -0.025 = -2,500�
12,500�
�
A difference in transfer value is always equal to the contribution made to the quota of the elected candidate. Where a ballot-paper has transfer value 0.1, 0.9 has already been used to help elect one or more (in this case) candidates. When it goes up to 0.125, those voters are all getting more than one vote!�


The Proportional Representation Society suggested as an alternative to overcome what it saw as the problem that every vote should contribute the same proportion of its transfer value to the quota of the elected candidate, and therefore have the same proportion (rather than amount) left over for continuing candidates. Using this approach, it reworked the figures from the above example:





Jones has progress total 70,000 and a surplus of 20,000, so the transfer value (reduction) factor becomes 20,000/70,000 = 2/7. In other words, the ballot-papers of full value should have transfer value 2/7 when transferred from Jones, and those of transfer value 0.1 would reduce to 1/l0 x 2/7 = 2/70.


The table below shows the make-up of Jones' quota under the new definition and how the surplus is dealt with (one vote gets lost by fractions):


ballot-papers�
incoming transfer value�
outgoing transfer value�
difference in transfer values�
contribution to Jones�
available for others in surplus�
�
60,000�
1�
0.2857..�
0.7142..�
60,000 x 5/7 =


42,857�
17,142�
�
100,000�
0.1�
0.02857..�
0.07142..�
100,000 x 5/70 = 7,142�
2,857�
�
You get a bit of a fright if you suppose that the next available preference on the two groups of ballot-papers is for a different candidate. Let's put the composition of the surplus side-by-side under the two transfer-value definitions.


ballot-papers�
contribution to surplus under proposed anomalous transfer value�
contribution to surplus under amended transfer value �
�
60,000�
7,500�
17,142�
�
100,000�
12,500�
2,857�
�
A swing of nearly 10,000 votes or one-fifth of a quota! Not to be brushed off as some minor irrelevancy, because it can clearly make a difference to outcomes.�


Dealing with exhausted ballot papers


Under the Bill a voter is not required to indicate preferences beyond his or her first choice. Therefore the surplus votes for a candidate may include ballot papers on which no further preference is indicated. In these circumstances the ballot paper is said to be exhausted.





The evidence from the Proportional Representation Society of Australia and the Electoral Reform Society of South Australia criticised the way in which exhausted ballot papers are dealt with under the Bill in calculating the transfer value.�





The procedure under the Bill was outlined in the previous section. In calculating the transfer value, no distinction is made between those ballot papers containing a preference for a continuing candidate and those which exhaust at that point. The example provided by the Proportional Representation Society illustrated its criticism and its proposed alternative:





Let's take another example with the quota at 50,000 and Christou having 60,000 first preferences, of which 6,000 ballot-papers do not have a next available preference.


Under the definition in the Constitutional Convention (Electoral) Bill 1997, the transfer value for all 60,000 ballot-papers would be 10,000/60,000 = 1/6. The 6,000 papers without a next available preference would therefore lead to 1,000 votes being recorded as exhausted.


There needn't be such an automatic wastage of votes'


The alternative is to have those 6,000 votes wholly included within Christou's quota (their transfer value becomes zero) while the other 54,000 each have transfer value 6,000/54,000 = 6/54 = 1/9. In this way, exhaustion of non-transferable votes is avoided as much as possible (obviously nothing can be done if such votes are being transferred from an excluded candidate!).


In case non-transferability is rampant, one must make sure that the transfer value cannot rise above 1 in any definition.


In the case of ballot-papers of differing transfer values within a quota, the principle is the same but its application is just a little more complicated.�





� 	Submission No. 26, Proportional Representation Society of Aust., pp. 7-8; Evidence, Proportional Representation Society of Aust., pp. 370-71, 373-74; Submission No. 23, Electoral Reform Society of South Australia, pp. 2-3.


� 	Clause 99(4).


� 	Clause 99(5).


� 	Clause 99(10).


� 	Evidence, Proportional Representation Society of Aust., pp. 370-71, 373-74.


� 	Evidence, Proportional Representation Society of Aust., p. 370.


� 	Evidence, Proportional Representation Society of Aust., pp. 370-71.


� 	Submission No. 26, Proportional Representation Society of Aust., p. 7; Evidence, Proportional Representation Society of Aust., p. 371; Submission No. 23, Electoral Reform Society of South Australia, p. 2.


� 	Evidence, Proportional Representation Society of Aust., p. 371.
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